istn. kabel teletech. 20 Ro=213,43

istn. gaz. 990 Ro=213,42

istn. kabel teletech. 20 Ro=213,43

O < oy N oy oy U
c ) N Q N N (@)
e — «D (@] D D N
o | % Q 3| 2| 2|0
D =. S o S S 3
(@) g’_ Q) C—D' $D m
— o S o g ©
- ) = | 5 @ o)
m CD - -
n Q o 0] o
= 215|523
3 § | ©» | S 5
= Q. ® o
N = = s
o~ Q c e)
(9]
S 2 N
=~ | 2 <
2. e~ N
— o
3 o
e o
g o
o 3
Q >
P °
Q. 3
n 2 '§' Studnia z tw. sztucznego DN400
I 0.0 g 21163 [ 166 |211.63|213,29 - g
© Co |on
|m§ N
O
2Y |/ b
C£ 93 | & ©| 209,48 | 1,70 |211,50 | 213,20 | Studnia betonowa DN1200
(6] ]
0
<
Q.
-3
8 0.0 gx 21284 | 166 |212.84 21450 Studniaztw. sztucznego DN400
DN =
%) oo ® o K _[/
it 4.2 I_ n[ 209,86 | 1,72 (212,78 | 214,50 | Studnia betonowa DN1200 o
(@)
8 0.0 21334 | 1.66 |213.34 | 215.00 Studnia z tw. sztucznego DN400
~ < %
Ez |©
iy €
N
H N
(£ 12.8 I— ®| 210,04 | 1.66 |212.84|214.50 | Studnia z tw. sztucznego DN600
\l
8 0,0 212,78 | 1,66 |212,78 | 214,44 Studnia z tw. sztucznego DN400
» - o
s |8
Co
=
g&
T N
@ X
I— o
(£ 15.2 ™ 210,04 | 1.94 |21256|214.50 | Studnia z tw. sztucznego DN600
\l
0
<
oL
c3
8 0.0 lgg 21442 | 1.66 |214.42 | 216,08 Studniaztw. sztucznego DN400
(@) 8\' "::: I /
m N ° B .
it 49 I k2 ©[ 210,17 | 1,73 214,35 216,08 | Studnia betonowa DN1200
(0 0)
0
<
Q.
Co
g 0,0 'cgi 21459 | 1,66 |214,59 | 216,25 Studnia z tw. sztucznego DN400
A g7 ok 7/
g 4.4 | » 210,24 | 1,72 214,53 | 216,25 | Studnia z tw. sztucznego DN600 -
(o)
0
<
o
8 0.0 |C8 21456 | 166 |214,56| 21622 Studnia z tw. sztucznego DN400
W S & ?.n/
0N R r
w ° Il
I ~ .
(TG 7.2 I_ ™[ 21033 | 1.74 |214.46 | 216,20 | Studnia betonowa DN1200 -
o
0
S .
8 0.0 Pl 21350 | 1.66 |213.50|215.16 Studnia z tw. sztucznego DN400
N lmg '~
SR
(TG 8.2 - N 210,45] 1,66 213,36 | 215,02 | Studnia betonowa DN1200 s
—
8 0.0 21279 | 166 |212.79|214.45 Studnia z tw. sztucznego DN400
— - “U'I
S R
Co
=
o&
I N
- (o2}
(|'<)) 16,2 ™ 21055 | 1,87 | 212,55 | 214,42 | Studnia z tw. sztucznego DN600
N
8 0.0 g 21277 | 1.66 |212.77 | 214.43 Studnia z tw. sztucznego DN400
o Ic':é‘ o
wx |
S
;Du'\l I
w n
S
I o
(TG 10,7 - ~1210,63| 1,79 [212,61|214,40 | Studnia betonowa DN1200 o —
w
-U .
(|<)) 0.0 .SA 213.03 | 1.42 |213.03 | 214.45 Studnia z tw. sztucznego DN400
© |C8 2_;:
S& |8
1~ -
L n
I— o
(rg 10,0 ©]210.63| 1,52 212,88 ] 214,40 | Studnia betonowa DN1200 o —
w
0 .
(I()) 0.0 é 21274 | 1.66 |212.74|214.40 Studnia z tw. sztucznego DN400
~ |(I:8 p
2% |
I~ -
X n
| o
(rg 10.4 - > 21090 | 1.66 |212.14|213.80 | Studnia z tw. sztucznego DN600
N
0
S
c3
(I()) 0.0 cg;; 21232 | 1.66 |212.32|213.98 Studniaztw. sztucznego DN400
I o
oo ©w e
D
W
%) @ .
R 8,4 » 210,90 | 1,66 |212,14 | 213,80 | Studnia z tw. sztucznego DN600
N
0
n S i
R 0.0 25; 21174 | 1.66 |211.74|213.40 Studnia z tw. sztucznego DN400
[{e}
(o)) '(,,g =
SRR N
w
(|'<)) 8.2 Ii 108211‘01 259 |211.01] 213,60 | Studnia betonowa DN1200
(6] ]
— — =
g § 3 az E NTOII RS
E 5% 2 s BIs=
i BLA SN |3 4 <1
gllaliglieell = || ) =]
3 S S a & 3 [~ = g (&)
B P EN EE B
2o 5 g '5 PPl R
sllg||g|IgE| Y |F m|S2
581133 3 ||I& R||2F
= = = g ﬁ ‘Q. O as [«V]
o I EH R B RS
e o Oy =
=|| o |-|L1 £ g‘
I 2§ Al =
s[5/ £ & 5
2 g § = Xl =
S8 g 3
HIEE g
§ gl & & =5
= |l S 3 O ||l w
—_ ~N & ‘3-
6.
3= £ ¥ S
Sl s
— -
g8||®
S S
wilo
S|



